INEQUALITIES
Pearson Edexcel — Monday 8 June 2020 - Paper 3 (Calculator) Higher Tier
1.

13 (a) On the grid show, by shadmg, the region that satisfies all these inequalities.
xz0 x5 2 yEx+3 Iy+irzah
Label the region K.




(b} The diagram below shows the repion § that satisfies the inequalitias

¥ dy ¥ %.1.' x+px b

=Y

Creoffrey says that the point with coordmates (2, 4) does not satisfy all the inequalines

becansze it does not lie m the shaded region

Iz Geoffrev comect?
You must groe a reason for your answer.

{Total for Question 13 is 5 marks)

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier

2.



1 (a) Solve 14n > 1ln +6

(b) On the number line below, show the set of values of x for which -2 < x+3 <4

(Total for Question 1 is 5 marks)

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier

3.



m o+ 7
4

1% Solve 22 = = 32

Show all your working.

i Pstal lor Cruestion 1% iS5 5 marks)

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier

4,



. . G
20 m is an integer such that 3n +2 < 14 and = o> |
n o+ 3

Find all the possible values of n.

{Total for Question 20 is 5 marks)

Pearson Edexcel - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier

5.



13

Y4

s |

Write down the three inequalities that define the shaded region.

{Total for Question 13 is 4 marks)

Pearson Edexcel - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
6.



1% Solve 20+ 3x -2 =10

{Total for Question 19 is 3 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 1 (Non-Calculator) Higher Tier

7.

9 Here 15 a cuboad.

All measurements are In centrmetres.
¥ is an mteger.

The total volume of the cuboid 1s less than %00 em®

¢ R

Show that x < 5

(Total for Question 9 is 3 marks)



Pearson Edexcel - Specimen Papers Set 2 - Paper 1 (Non-Calculator) Higher Tier

8.

11 5Solve the inequality x* = 3{xr + &)

{Total for Question 21 s 4 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 3 (Calculator) Higher Tier

9.



1 O the grid, shade the regnon that sansfies all these mequalities,
rty<d y=a—l ¥ dx
Label the region R.

e

=3

.

{Total for Cruestion 10 is 4 marks)

Pearson Edexcel - Sample Paper 1 - (Non-Calculator) Higher Tier

10.



10 Solve x*=3x+4

{Total for Question 19 is 3 marks)

Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier

11.

9 (a) Factonse "+ Tr+6

(b) Sobve Bx+4 =x+17

(c) mns anmteger with —5 = 2n = &

VWnte down all the ahes of n

-
L)

(Total for Question 9 iz 6 marks)

Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier

12.



18 On the grid shew, by shading, the region that satisfies all thres of the inequalites

x=yeT ¥ Iy ¥>3
Labal the region K.
.Th
B
&
4
k1
3
1
2 109 1 3 4 5 & 7 8§ «x
-1
.

(Total for Question 18 is 4 marks)

Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier

13.



5 (a) Solve the mequalty &v+35>=3

(b} Here 15 an mequality, n x, shown on a number line.

Y

|

A

e

|

-

|

—

=

[

It =

[

g

L5
B

Write down the inequality.

(Total for Question = is 4 marks)

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier

14.

13 S=y<£0
Vv is an integer

(a) Write dowm all the possibla values of 3.

(t) Salve B{r—21>13

(Total for Queston 13 is 4 marks)



Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier

15.

4 =2=ms 3

(a) Represent this inequality on the nomber line.

d
L
L
ta
I3
=
-
b
s 4
I
"

(b} Solve the inequality 8xr—3 = 6x + 4

{Total for Question 14 Is 4 marks)

Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier

16.
12 -3=<m=l

i is an integer.

{a) Write down all the possible values of n.

{b) Solve the ineguality Ip-T=11

(Total for Question 12 Is 4 marks)



Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier
17.
8 (a) s an integer.

“lgn<4

List the possible values of w.

(b
& ]
r T T T T T T T T T T -r'
-5 4 -3 =1 -l ] 1 2 3 + 5 x

Write down the inequality shown in the diagram_

{c) Solve Iy-2=5

(Total for Question 8 is & marks)
Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier

18.

10 wr is an integer such that -2 < m £ 3

{a) Write down all the possible values of .

(k) Solve Tx—9<3x+4

{Total for (uestion 10 ks 4 marks)



Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier

19.

11. {a) Om the nomber ling below, show the imequality —-2<p<1

— T T T T T T T T 71>
-4 =3 =2 -1 0 1 I3 4 5
1)
(b} Here is an inequality, in x, shown on a number line.
& &
N O A N N N N

Write down the inequality.

)

{c) Solve the inequality 4—3>0

{Total 5 marks)

Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier
20.

12. 2 n<3i
i is an integer.

{a) Write down all the possible values of n.

{b) Solve the inequality  4x+ 1> 11

{Total 4 marks)




Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier
21,

15, (a) x==3

Show this inequality on the number line.

4

I

[P

|

[

|
SR =
Lok o
.
Lh =

{2y
(b) Solve the inequality Ty +36 £ &

{Total 4 marks)

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier
22.

M 3=k=2
ki an integer.

(a) Wwrite dowen all the possible valuss ol &

(b) Solve the inequality ‘_’3_* <10

@

(Total 4 marks)




Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
23.

15, =d ==
nis an inbeger.

{a) Wrile down all the possible values of

(b) Solve Ix=2>x4+7

(Total 4 marks)

Pearson Edexcel - Thursday 5 November 2009 - Paper 3 (Non-Calculator) Higher Tier
24,

15 kis an mteger such that -1 £ k<3

(a) List all the possible vahues of k.

2y
(b} Solve the mequality & =y <10

(Total 4 marks)




OCR GSCE — Monday 9 November 2020 — Paper 6 (Calculator) Higher Tier
25.

2 Solve 3x+4 < 19.
Show your solution on the number line.

[ ]
|
E4

[4]



OCR GSCE — Monday 11 November 2019 - Paper 6 (Calculator) Higher Tier
26.

1 Solve 3x—-5=10.
Show your solution an the number line.

[4]



OCR GSCE — Tuesday 11 June 2019 — Paper 6 (Calculator) Higher Tier
27.

7  Construct the perpendicular from the point P to the line AB.
Show all of your construction lines.

(2]



OCR GSCE - Thursday 7 June 2018 — Paper 5 (Non - Calculator) Higher Tier

28.

2 (Gemma’s solution to the inequality 3x + 1 > — 5 is shown on the number line.

— O _
| T T | T | T T T | T T T T T | T | T T T | T | l"x
-6 -4 -3 =2 - 0 1 2 3 4 5 6

T
-5

Is Gemma's solution correct?
Explain your reasoning.

.. [3]
OCR GSCE — Tuesday 6 November 2017 — Paper 5 (Non - Calculator) Higher Tier
29.

17 Solve the inequality.

x2—5x—5£|]

.. [4



OCR GSCE - Thursday 8 June 2017 — Paper 5 (Non - Calculator) Higher Tier

30.

10 (a) Solve the inequality.

3x—2>10
(a)
(b) Solve.
Gx+2=5-4x

(b)

2]

. [3]



OCR GSCE - Sample Papers — Paper 5 (Non - Calculator) Higher Tier

31.

20 (a) Find the interval for which x2 = 7x + 10 < 0.

(@) o MR e [3]

{b) The point (-3, -4) is the turning paint of the graph of y = x* + ax + b, where a and b are
integers.

Find the values of a and b.



AQA GSCE — Thursday 8 June 2020 — Paper 3 (Calculator) Higher Tier
32.

15 Solve  4>11- %
[2 marks]
Answer
AQA GSCE - Thursday 6 June 2019 — Paper 2 (Calculator) Higher Tier
33.
10 ¥ is an integer.
A <xg2
and
2zx+3<90
Work out all the possible values of x.
[3 marks]

Answer




AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier

34.
1
10 Solve 8=3- Ex
[2 marks]

Answer
AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier
35.
5 Solve 5(x+ 3) <60

[2 marks]

Answer

AQA GSCE - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier
36.



2 Circle the list of all the integers that satisfy 2<x<4

[1 mark]
-2,-1,0,1, 23 -1,0,1.2, 3
-2,-1,0,1,2, 3,4 -1,0,1,2, 3, 4
AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier
37.
5 (a) Factorise ¥ —100
[1 mark]
Answer
5§ (b) Solve Tx+6>1+2x
[2 marks]

Answer




AQA GSCE — Wednesday 8 November 2017 — Paper 3 (Calculator) Higher Tier
38.

1 Circle the inequality shown by the diagram.

O ]

I I I I I I | I I I I »
X

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8

[1 mark]
-4 £ x< 5 -4 £ x5 -4 = x< 5 -4 <= x £ 5
AQA GSCE — Wednesday 25 May 2017 — Paper 1 (Non - Calculator) Higher Tier
39.
14 Solve —-3r=6
[1 mark]

Answer

AQA GSCE - Tuesday 13 June 2017 — Paper 3 (Calculator) Higher Tier
40.



6 How are the whole number solutions to A and B different?

A Solve 3=3r<18
B Solve 3<3r<18
[2 marks]
AQA GSCE - Sample Paper 1 (Non - Calculator) Higher Tier
41.
8 Solve Bx—-2>3x+ 11
[2 marks]

Answer




